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1. Which of the following is (are) unique to animals?

A) cells that have mitochondria

B) the structural carbohydrate, chitin

C) nervous conduction and muscular movement

D) heterotrophy

2. The endoskeletons of most vertebrates are composed of calcified
A) cartilage.

B) enamel.

C) chitin.

D) dentin.

3. As body size increases in animals, there is

A) a decrease in the surface-to-volume ratio.

B) no further reproduction in aqueous environments.

C) the tendency for larger bodies to be more variable in metabolic rate.
D) an increase in migration to tropical areas.

4. To leave the digestive tract, a substance must cross a cell membrane. During which stage of food
processing does this take place?

A) ingestion

B) digestion

C) hydrolysis

D) absorption

5. In which animal does blood flow from the pulmocutaneous circulation to the heart before
circulating through the rest of the body?

A) annelid

B) mollusc

C) fish

D) frog
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6. Which of the following cell types are responsible for initiating a secondary immune response?
A) stem cells

B) B cells

C) memory cells

D) T cells

7. Most of the organelles in a neuron are located in the
A) dendritic region.

B) axon hillock.

C) axon.

D) cell body.

8. What type of signal is fast and requires daylight with no obstructions?
A) olfactory

B) visual

C) auditory

D) tactile

9. Which of the following levels of organization is arranged in the correct sequence from most to
least inclusive?

A) community, ecosystem, individual, population

B) ecosystem, community, population, individual

C) population, ecosystem, individual, community

D) individual, population, community, ecosystem

10. According to the competitive exclusion principle, two species cannot continue to occupy the
same

A) habitat.

B) niche.

C) territory.

D) range.
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. Model Organism
. Storage Polysaccharides
. Noncompetitive Inhibitor

. Endosymbiont Theory

. Intermediate Filaments
7. Aquaporin
8. Sodium-Potassium Pump
9. Receptor Tyrosine Kinases

10.
11.
12.
13.
14.
15.
16.
17.
18.
19.
20.

1
2
3
4. Lysosomes
5
6

Apoptosis

Chemiosmosis
Autotrophs

Cell cycle

Meiosis

Polygenic Inheritance
Genomic Imprinting
Heterochromatin

RNA Splicing

RNA Interference (RNAI)
Induced Pluripotent Stem (iPS) cells

= EE L2045 )
1. HEMREMAESIANERE - BARBRBENHE - FRUNTPTIR 1A E 5K (postulate)

EALUR#RE - EREBIUARERD - BR ¥ Dominance/Recessiveness (#8 MBS M) 4
Unit factors exist in pairs GEEE M —H—HIBEFLIR) 2905 B ER

(postulate) - T FL 2B EH ¥ Law of Segregation (7 B##E) LUK Law of Independent
Assortment CEII D ECHER) - sFaiE _JENAREER - ERTEAREEAE R eki0l
= HAERNEIRERINE—D FREUARHE - FELELERIEMR (theory of
chromosome) =% Law of Segregation (7 B#12) LK Law of Independent Assortment
(BN ER)  #iE _JENATEREE - (1N UMUERARAENBIRAEEEE - TR
B8) (8 5)
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2. DI—EEREZE L —EMRRE = (one gene one peptide) « ;RAAZEWIUAER T
Dominance/Recessiveness (%8 M4 EAZ M) 89 = 5K (postulate) - 1 H 73 Al R AR TEZE & one gene
one peptide 3= 2 T - Complete dominance (52 & #14) - Codominance (FLE M) - Incomplete
dominance (B2 281%) - EERFRARIERZNOEET (BEEBRMEESE)  UIk=F2
BEMAEZEMEEZE - (8 1)

3. B—1E& Recessive epistasis (F214/_EM1ER) SEEEEERNEER (hair color) EE L - —¥
ZEMA (parents) 75 heterozygote (BE#A S 1) » ETRRLE - MHELHF
(offspring) - =T@EERILEAIL T

“ Agouti : black : albino = FRFEEE : BB HEE = 9:3:4”.
SHEmE () ERE—EEHIIE—IRZ (two sets of genes controlling this phenotype of
color) - ERMAAERFEMWELEZEY) (gene products) =238 H epistasis (SU1ER) AUFHIE -
A Emie () EE/ dominant/recessive alleles ZIZEHIBHESNRIRZ (phenotype)
PUE M) EREYMNEREEY 2 BUIZ G 1ER (interaction with each other)?
(e~ ERFBHREENEETH Agouti (BHE)  BE—REBEELBEREZAHENIR
Z-°) (47)
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